[bookmark: _GoBack]ASSIGNMENT 3(UNIT 7)
CLASS 3RD 										MATHS
Q1. Multiply 
(a)	36 x 10 = _____				(d) 48 x ___ = 48		(g) 14 x 8 = ___ x 14
(b)	 28 x 100 = _____			(e) 89 x 1 = _____		(h) 99 x 0 = ____
(c)	21 x 1000 = _____			(f) 56 x 10 = _____		(i) 51 x ___= 0
Q2. Complete the multiplication with repeated addition
(a)	4 + 4 + 4 = ___ x ____=____
(b)	7 + 7 + 7 + 7+ 7 = ____ x ____ = ____
Q3. Multiply   (a) 46 x 6 	(b) 664 x 4 	(c) 18 x 13 	(d) 707 x 52
Q4. A box contains 98 chocolates. How many chocolates are there in 13 such boxes?
Q5. A fruit seller earns Rs. 896 daily. How much money will he earn in 26 days?
1. There are 544 pots. Each pot has 32 flowers in it. How many flowers are there in all?
2. There are 37 baskets. There are 17 apples in each basket. How many apples are there in all?
1. 629 apples		2. 926 apples		3. 296 apples		4. 692 apples
3. There are 84 leaves. There are 139 ladybugs on each leaf. How many ladybugs are there in all?
1. 5678 ladybugs	2. 6789 ladybugs	3. 11676 ladybugs	4. 7895 ladybugs
4. I see 105 puppies. How many ears do they have?
1. 342 ears		2. 287 ears		3. 210 ears		4. 102 ears
5. Jim gets paid Rs. 5 for delivering newspapers. He delivers 9 newspapers. How much many does he make?
1. Rs. 53		2. Rs. 54		3. Rs. 45		4. Rs. 35

